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Introduction
In RAN #80, a WI ‎[1] was approved for improvement for machine type communication for NB-IoT UE’s including following objectives: 
Scheduling enhancement:
· [bookmark: _Hlk516765510]Specify scheduling multiple DL/UL transport blocks with or without DCI for SC-PTM and unicast [RAN1, RAN2]
· Enhancement of SPS can be discussed.

[bookmark: _Ref129681832]In RAN1 #96, the following agreements were reached:
Agreement
Support option 3 from below
For the case of single DCI scheduling multiple transport blocks with repetitions, scheduling of transport blocks repetitions is down selected between:
· Option 1: All the repetitions for one transport block are contiguously scheduled in valid UL/DL subframes
· Option 2: The repetitions for one transport block are interleaved with repetitions of all the other transport blocks
· Option 3: Option 1 and 2 are supported and eNB configures among them
Above applies for unicast only.

Agreement
For the DL/UL unicast for a UE, when multiple TBs are scheduled by one DCI, the parameter values for {MCS, Resource assignment, Repetitions} are the same across all the TBs scheduled by that DCI.
· If specified, in the case where one DCI schedules TB for both initial and retransmission, the above applies for TBs for both initial and retransmission


This contribution assesses the procedures for scheduling of multiple uplink/downlink transport blocks.
Discussion
In this contribution we focus on scheduling unicast multiple DL/UL transport blocks. Any mention of scheduling multiple TBs is referring to scheduling unicast multiple TBs unless specified otherwise.
DCI size
The size of the DCI had not yet agreed upon and the DCI size may affect the buffer size of the UE’s hardware, since the UE is expected to blindly decode the DCI through a specific search space, with some likely repetitions a small increase of the size of a DCI will increase the required buffer size of the UE. This will hamper the upgradability of UEs already deployed in the field.
Observation 1: [bookmark: _Ref4767156]The size of the DCI will affect the required buffer size of the UE.
Proposal 1: [bookmark: _Ref4767181]Reuse Rel-15 unicast and multicast DCI size.
Differentiating between DCIs
For a Rel-16 UE supporting scheduling of multiple TBs, it is possible to receive either a legacy (Rel-15) DCI or the new multiple TBs DCI. Using a flag to differentiate between DCIs is wasteful if we consider how scares are the resources for multiple UL/DL TBs DCI. Instead, we suggest a UE shall only decode one type of DCI per search space, whether a Rel-16 multiple TBs DCI or a Rel-15 legacy DCI. Thus, preserving a bit for other usage.
Observation 2: [bookmark: _Ref4767218]For a UE supporting scheduling multiple UL/DL TBs there are two modes of operations:
a. [bookmark: _Ref4767249]Rel-16 scheduling multiple TBs per DCI
b. [bookmark: _Ref4767292]Legacy, Rel-15 DCI

Proposal 2: [bookmark: _Ref4767331]A UE will only attempt to decode one type of DCI per search space either legacy DCI or Rel-16 multiple UL/DL TBs DCI. Search space configuration FFS
HARQ Process ID Assignment
In RAN1 #95 and RAN1 #96 ‎[2] the HARQ process id assignment was examined. It was agreed in RAN1 #95 the maximum number of TBs for CEModeA will be 8, and for CEModeB will be 4. To allocate all combinations of both the HPID (HARQ Process ID) and the NDI it in the FDD case will require 16 bits in case of 8 possible HPID regardless of the number of transmitted TBs. This is possible by using two 8-bit long bitmaps, one for allocated HPIDs and one for NDIs. However, using a bitmap will not be possible while retaining the size of the current DCI, without strenuous changes to the DCI structure. 
Observation 3: [bookmark: _Ref4767360]Using HPID and NDI bitmaps may allow flexibility, however it is not possible with the current DCI size, without strenuous changes to the DCI structure. 
We suggest a more bit-conservative method, while retaining similar flexibility to transmit HARQ process out of sequence. 
We define a table, where each entry in the table corresponds to one or more HARQ process IDs and its NDI values with a DCI field is pointing to one of the table entries. To generate the table, we suggest few guidelines. 
First, we need to agree on the number of bits allocated towards the HPID sequence and for the NDI flags. The number of available bits is discussed in several contributions. Since it is not the topic of this contribution we will assume allocation of  bits for FDD and  for TDD. It is necessary to have more than 4 bits for the transmission because it is necessary to be able to transmit at least all 8 1-TB HPID sequences with all NDI combinations which amount to 16. Moreover, it is necessary to add sequences with more than one HPID. These bits will be jointly used to define the number of TBs, the HPIDs and the NDI flag for each HPID. 
If RAN1 agrees to allocate more bits for this purpose, we may amend our proposal accordingly.
Assumption 1: At least Five bits are allocated for jointly encoding the number of TBs, HPID sequence and NDI sequence for FDD, six bits for TDD.
Now, it is possible to start building the HPID/NDI sequence table. 
Representing all the possible combinations of HARQ process ID sets, with all possible set sizes (number of allocated TBs) up to 8, would require a very large number of entries in the table and many bits to index all the entries. Therefore, the first guideline is to reduce the number of HARQ process ID combinations such that only either increasing or decreasing HARQ process ID sets are represented in the table. This should be possible since the HPID order does not have a significant meaning.
For the rest of the contribution we will assume an increasing order for simplicity
Proposal 3: [bookmark: _Ref4767376]For multiple-TB DCI, the HARQ process ID sequence is in increasing order.  
The building of HARQ process set can be seen in Figure 1. To represent the group of all the HPID sequences we have defined the variable .
 is the number of different allocated TBs. For example, if it is decided to support full transmission range of 1-8 TBs using one DCI, . In case a smaller range will be decided, .
 is a vector of size . Each element in this vector represents the number of different HARQ process sequences that are available per number of allocated TBs. If, for example, the value of  , there is only one sequence available for 8 TB transmission, i.e. only the sequence of HPID #1 through HPID #8 in an increasing order, for FDD. This will imply there will not be any retransmissions in this scenario since we do not signal NDI values in this case. To define , it is necessary to decide upon the flexibility of the table. For example, more 2-TBs sequences allow for more flexibility but will require more overhead for longer sequences. Setting more 3-TBs sequences will reduce overhead for some combination, but other combinations will require more overhead as there is no specific pre-set sequence in the table.
Vector  is also of size  and each element represents the number of TBs to be transmitted (). If the range specified is of 1-8 TBs,  will be defined as . Additional example is the  range of , for which . In this use-case only 1-TB, 2-TBs, 6-TBs, and 8-TBs DCIs are defined.
Variables  are used as indices to iterate on vector  and .
Table creation steps: Step 1 is an initialization of the indices. In step 2 we specify the number of TBs to be transmitted. In step 3 we generate a sequence of HARQ process to be transmitted using an algorithm specified in Figure 2. Step 4 adds the new sequence of HARQ processes to the HARQ process set . We do these iterations  times for each possible  according to steps 5 to 8.
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[bookmark: _Ref4699375]Figure 1 - Proposed Algorithm for HPID Sequence Generation
In Figure 2, we expand Step 3 of Figure 1. As input we receive , , and . We define  as all the possible combinations of HPID sequences given the number of allocated TBs, maximum number of HPIDs, and the corresponding NDI field. With the condition of , meaning whenever a sequence is added to , it is subtracted from . 
Sequence creation steps: In step 3-1 we declare the input we receive. In step 3-2 we create a new sequence set which includes all the possible combinations of sequences from  for  TBs for transmission. The sequence set is put into . As stated before, all combinations’ HPID need to be in ascending order, and any sequence already in  is excluded. In step 3-3 we define  as the sequence in set  containing the least distance from set .
The suggested definition of distance is one over the minimum number of HPID sequences in  required to transmit the current sequence. Therefore, a sequence which reduces the number of DCIs required for a specific sequence will be chosen.
We ignore the use case for retransmission of sequences that have . For the reason it is not likely several sequences will need to retransmit (an assumption the possibility of 1 TB retransmission is 10%). However, the retransmission use case may be further evaluated depending on the proposed use case.
Observation 4: [bookmark: _Ref4767412]Defining  as a vector specifying the number of HPID per  transmission of TBs along with a distance formula to calculate HPID sequence allows the generation of HPID sequence pool.
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[bookmark: _Ref4710336]Figure 2 - Break down of Step 3 in Figure 1
Using the proposed algorithm, depending on the distance formula, we can build a table for both NDI fields, and HPID sequence per a combination of  bits.
Example of building HPID sequence pool with NDI field
The example in Table 1 is relevant for CEModeB in FDD. The maximum number of TBs per DCI is set to 4. The bit formula is used to differentiate between the different HPID/NDI sequences. One may see that all combinations for NDI, and HPID for 1-TB transmission are covered. This is to allow retransmission of any single process as it is the most common case for retransmission. In case the use case of legacy DCI is allowed with Rel-16 multiple UL/DL, this condition may be removed. When  it can be seen NDI is always 1, as a retransmission has 10% chance of occurring, so it seems we can exclude the less probable use case of two retransmissions and it would be good tradeoff between flexibility and DCI size. However, if the retransmission probability for a single process is greater, retransmission in sequences of  might be added. Adding a single retransmission in a sequence is more likely, however the number of combinations is quite big in this use case, and we suggest using a single TB retransmission in this case.
For new data, the algorithm can be seen to minimize the number of DCIs required to transmit an HPID sequence. For example, a transmission of HPID sequence of [0 2 5 7] without the last table entry will require 4 1-TB DCIs. The algorithm is trying to minimize the number of required DCIs per long sequences, while also allowing for flexibility of smaller sequences.
Observation 5: [bookmark: _Ref4767428]Using the proposed algorithm minimizes the number of DCIs required to transmit HPID sequences.
It can be seen in this use case the vector  (i.e. 16 sequences are used for single TB allocation, 9 sequences for 2 TBs allocation and so on), the number of bits  and HARQ processes are 0-7.

		Bit formula
	P #
	NDI

	0
	0
	0
	0
	0
	0
	-
	-
	-
	0
	-
	-
	-

	0
	0
	0
	0
	1
	1
	-
	-
	-
	0
	-
	-
	-

	0
	0
	0
	1
	0
	2
	-
	-
	-
	0
	-
	-
	-

	0
	0
	0
	1
	1
	3
	-
	-
	-
	0
	-
	-
	-

	0
	0
	1
	0
	0
	4
	-
	-
	-
	0
	-
	-
	-

	0
	0
	1
	0
	1
	5
	-
	-
	-
	0
	-
	-
	-

	0
	0
	1
	1
	0
	6
	-
	-
	-
	0
	-
	-
	-

	0
	0
	1
	1
	1
	7
	-
	-
	-
	0
	-
	-
	-

	0
	1
	0
	0
	0
	0
	-
	-
	-
	1
	-
	-
	-

	0
	1
	0
	0
	1
	1
	-
	-
	-
	1
	-
	-
	-

	0
	1
	0
	1
	0
	2
	-
	-
	-
	1
	-
	-
	-

	0
	1
	0
	1
	1
	3
	-
	-
	-
	1
	-
	-
	-

	0
	1
	1
	0
	0
	4
	-
	-
	-
	1
	-
	-
	-

	0
	1
	1
	0
	1
	5
	-
	-
	-
	1
	-
	-
	-

	0
	1
	1
	1
	0
	6
	-
	-
	-
	1
	-
	-
	-

	0
	1
	1
	1
	1
	7
	-
	-
	-
	1
	-
	-
	-



		Bit formula
	P #
	NDI

	1
	0
	0
	0
	0
	0
	1
	-
	-
	1
	1
	-
	-

	1
	0
	0
	0
	1
	1
	2
	-
	-
	1
	1
	-
	-

	1
	0
	0
	1
	0
	2
	3
	-
	-
	1
	1
	-
	-

	1
	0
	0
	1
	1
	3
	4
	-
	-
	1
	1
	-
	-

	1
	0
	1
	0
	0
	4
	5
	-
	-
	1
	1
	-
	-

	1
	0
	1
	0
	1
	5
	6
	-
	-
	1
	1
	-
	-

	1
	0
	1
	1
	0
	6
	7
	-
	-
	1
	1
	-
	-

	1
	0
	1
	1
	1
	2
	4
	-
	-
	1
	1
	-
	-

	1
	1
	0
	0
	0
	0
	7
	-
	-
	1
	1
	-
	-

	1
	1
	0
	0
	1
	0
	2
	4
	-
	1
	1
	1
	-

	1
	1
	0
	1
	0
	3
	5
	7
	-
	1
	1
	1
	-

	1
	1
	0
	1
	1
	1
	3
	5
	-
	1
	1
	1
	-

	1
	1
	1
	0
	0
	1
	4
	6
	-
	1
	1
	1
	-

	1
	1
	1
	0
	1
	0
	3
	7
	
	1
	1
	1
	1

	1
	1
	1
	1
	0
	0
	4
	6
	7
	1
	1
	1
	1

	1
	1
	1
	1
	1
	0
	2
	5
	7
	1
	1
	1
	1





[bookmark: _Ref4712218]Table 1 -Bit formula per HPID sequence with NDI (4 TBs)
[bookmark: _GoBack]We further explore a similar example for CEModeA, FDD in Table 2. We can see the parameters are similar. However, the vector  has changed to . Another parameter changed is vector  to accommodate more  transmission. Vector .  It can be seen we’ve neglected several  possibilities. This is done to simplify and allow for more lower combinations. It can be seen there is only one possibility for the case of 8TBs transmission in FDD. In TDD we will encounter more combination, which will be handled similarly to the rest of the HPID sequences. It can be seen in this example HPID sequence [0 4 5 7] is not possible using any two DCIs, whereas most other combination can at least be transmitted using a DCI with scheduling of 2 TBs. 

	Bit formula
	P #
	NDI
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	0
	0
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	0
	-
	-
	-
	-
	-
	-
	-
	0
	-
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	-
	-
	-
	-
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	-
	-
	-
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	-
	-
	-
	-
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	-
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	-
	-
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	-
	-
	-
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	-
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	-
	-
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	-
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	-
	-
	-
	-
	-
	-
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	-
	-
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	-
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	-
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	-
	-
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	-
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	-
	-
	-
	-
	-
	-
	-
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	-
	-
	-
	-
	-
	-
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	1
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	-
	-
	-
	-
	-
	-
	-
	1
	-
	-
	-
	-
	-
	-
	-

	0
	1
	1
	1
	0
	6
	-
	-
	-
	-
	-
	-
	-
	1
	-
	-
	-
	-
	-
	-
	-

	0
	1
	1
	1
	1
	7
	-
	-
	-
	-
	-
	-
	-
	1
	-
	-
	-
	-
	-
	-
	-



[bookmark: _Ref4764047]Table 2-A - Bit formula per HPID sequence with NDI (8 TBs)
	Bit formula
	P #
	NDI

	1
	0
	0
	0
	0
	0
	1
	-
	-
	-
	-
	-
	-
	1
	1
	-
	-
	-
	-
	-
	-

	1
	0
	0
	0
	1
	1
	2
	-
	-
	-
	-
	-
	-
	1
	1
	-
	-
	-
	-
	-
	-

	1
	0
	0
	1
	0
	2
	3
	-
	-
	-
	-
	-
	-
	1
	1
	-
	-
	-
	-
	-
	-

	1
	0
	0
	1
	1
	3
	4
	-
	-
	-
	-
	-
	-
	1
	1
	-
	-
	-
	-
	-
	-

	1
	0
	1
	0
	0
	4
	5
	-
	-
	-
	-
	-
	-
	1
	1
	-
	-
	-
	-
	-
	-

	1
	0
	1
	0
	1
	5
	6
	-
	-
	-
	-
	-
	-
	1
	1
	-
	-
	-
	-
	-
	-

	1
	0
	1
	1
	0
	6
	7
	-
	-
	-
	-
	-
	-
	1
	1
	-
	-
	-
	-
	-
	-

	1
	0
	1
	1
	1
	2
	4
	-
	-
	-
	-
	-
	-
	1
	1
	-
	-
	-
	-
	-
	-

	1
	1
	0
	0
	0
	0
	7
	-
	-
	-
	-
	-
	-
	1
	1
	-
	-
	-
	-
	-
	-

	1
	1
	0
	0
	1
	0
	6
	-
	-
	-
	-
	-
	-
	1
	1
	-
	-
	-
	-
	-
	-

	1
	1
	0
	1
	0
	0
	2
	4
	6
	-
	-
	-
	-
	1
	1
	1
	1
	-
	-
	-
	-

	1
	1
	0
	1
	1
	0
	2
	5
	7
	-
	-
	-
	-
	1
	1
	1
	1
	-
	-
	-
	-

	1
	1
	1
	0
	0
	0
	3
	5
	7
	-
	-
	-
	-
	1
	1
	1
	1
	-
	-
	-
	-

	1
	1
	1
	0
	1
	0
	4
	5
	7
	-
	-
	-
	-
	1
	1
	1
	1
	-
	-
	-
	-

	1
	1
	1
	1
	0
	2
	5
	6
	7
	-
	-
	-
	-
	1
	1
	1
	1
	-
	-
	-
	-

	1
	1
	1
	1
	1
	1
	2
	3
	4
	5
	6
	7
	8
	1
	1
	1
	1
	1
	1
	1
	1


Table 2-B - Bit formula per HPID sequence with NDI (8 TBs)

Proposal 4: [bookmark: _Ref4767450]Use sequence generating algorithm as baseline for HPID, and NDI fields in Rel-16 multiple UL/DL TBs DCI. 
Conclusion
In this contribution we make the following observations and proposals:
‎Observation 1: The size of the DCI will affect the required buffer size of the UE.
‎Proposal 1: Reuse Rel-15 unicast and multicast DCI size.
‎Observation 2: For a UE supporting scheduling multiple UL/DL TBs there are two modes of operations:
‎a. Rel-16 scheduling multiple TBs per DCI
	‎b. Legacy, Rel-15 DCI
‎Proposal 2: A UE will only attempt to decode one type of DCI per search space either legacy DCI or Rel-16 multiple UL/DL TBs DCI.
‎Observation 3: Using HPID and NDI bitmaps may allow flexibility, however it is not possible with the current DCI size, without strenuous changes to the DCI structure.
‎Proposal 3: For multiple-TB DCI, the HARQ process ID sequence is in increasing order.
‎Observation 4: Defining  as a vector specifying the number of HPID per  transmission of TBs along with a distance formula to calculate HPID sequence allows the generation of HPID sequence pool.
‎Observation 5: Using the proposed algorithm minimizes the number of DCIs required to transmit HPID sequences.
‎Proposal 4: Use sequence generating algorithm as baseline for HPID, and NDI fields in Rel-16 multiple UL/DL TBs DCI.
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